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Algebra ll
Homework: Solving Polynomial Equations

Period:

Directions: Solve each equation by factoring. Simplify all irrational and complex solutions.

1) 12x3 —-3x =0

sx(4x?-1)=0
gy (AX+D(2x-1)=0
gx=0,2X+[=0,7X-=0

E ‘X'—'"/z) lx”"z?— /

2) x* —81=0
(y2+D(y?-9)=0
(y?+)( X+3)(¥-3)=0
X?+¢7=O, X"" 3:0/)('? =i

9 [v=-3] [X=3
\’;Xi;jﬁ;i X=-3 (x=37

3) x3—-64=0

(X-)(x2 +4x +1L)=0

4) 13x3 +12 =414
74/1/2;3

4y -of

2y=0, X-10=0,X+2=0

)(-—4'50 X’+4X+Ib=o ,7:?'3/3-1‘8:0
W) g mp-dam) | (sx+2)(ax?- pr+~£) =0
2o £ s qy(: lb’\j;ﬂ:4?7x4)
:}-';?i'— S 4+ 4ilg o ¥=-2/3 gl ‘
5.) 2x3 — 16x2 — 40x = 0 - e L.
X )(X *-8x-20)=0 202 —?6': —+°74x2 -%ﬁb %
ax (x-1)(x+2)=0 A\ | y1-5¥?-3b=0 o

(x#-9)(x?+4)=0

—jty 4§

43+ 3x ) Joy -45F 0

y2 ( X43)-1b (¥+3)=0
[y?—lb)(x-f?):o
(x+d)(x~H ) x+3)=0
Y+y=o, X-4=0, X+3=0

@ [X=10) [X==2] (x3) x-3)(x?+4)=0
X3=0 , X-370, X7 47
(X=-37 @ _[x=%2¢)
7.) x3 + 3x2 = 16x + 48 8.)(2x3 — xzx— 98x + 49)=

Y2 (2x-1)-44(2x-1) = 0
(y2-49)(2x-1)=0

(XA X-F)(2x-) =0
¥+3=0, X-7=0, 2X-1=©
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